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77''% and °''% maintain that he is 21 — 2977 992K 7TV 29 KT 29

OVERVIEW

X107 27 and 77170 27 maintain that in a case of X»Y °72, the *12 can be XY
from the Xnw. This mdo1n will initially discuss what ramifications this ruling
has concerning a person who is unable to swear. The remainder of this m»o1n
will attempt to reconcile the ruling of (7"97) "1 that a 32 can be XX from a
P1mn, and the general rule of PRA7 1°%¥ 17°ann X°¥1an; which would seemingly
require a more convincing 7°X7 than a X221 °72.

- DYYN YWY 9199 1ONRY TINN AINT NAN 2297 10D 1YY AN NIINY
It seemingly appears that °"71 7" disagree with R''S then who maintains
that ‘since he cannot swear he is required to pay’. According to X", in any case

where the defendant is required to swear in order not to pay, if for any reason the vani
cannot swear he is obligated to paly.1

mooIn will now explain why (seemingly) >"1 7" cannot agree with X".
- oy 192 DYAN /N NMAVN (x,m 97 meaw) YITTT DIVN NAN 2297 NNIY0T

For the reason that X''2 maintains 2>wn ¥aw°? 212° 1°RW 7107, is based on the
following 77w"7 where he derives from the m109 of ‘the oath of '77 should be

between both of them’; where seemingly the words omaw 172 are superfluous; it should
have merely stated that the 90w is obligated to swear. This P10 is interpreted’ to mean that
an oath is required only when the litigation is between the two principles (27w 12) —

= PYIN Y PA XD
but not between the heirs of the principles. In a case where the principles died, and
the litigation continues between the respective heirs, there is no rule of 7¥12aw. The X713
there continues to clarify this 7w77 and concludes that the exemption of 2w from a 7¥12w

is discussing (only) the following case, where -
= NIYTY ND PYUNNI RIYT PYNN 90X 7PN 792 NAND 1313 99N 1)

" There are some exceptions to this rule, notably if the vani is suspect of swearing falsely; in that case the rule
is that the plaintiff swears and collects his debt. The ruling of &2 comes (also) into play in the instance where
both the v21n and the yani1 are Xny2awR 2°7wr; in that case X"9 will rule that since the ¥ani1 cannot swear he
must pay. Others (7% 27) maintain that in the case where they both are o>7wn, the ¥an1 is 7. They do not
agree that 07wn yaw>h 9122 1Rw Tinn. See (also) ‘Thinking it over’ #1.

% This is a 2109 in 7,23 (2°LdOWN) MW, regarding a 12w M. The 77N states that if the w"w claims there was an
oK he is required to take an oath to appease the 7°own. Even though the P09 is discussing Pvwi ny1aw,
nevertheless the following mw77 includes all types of (Xn°71XT) myaw.

? This 7w17 was actually cited by *»X *27. It is X271 who claims that this w7 is the source for the 1°7 of Xax 27,
that 2"?Xw 7Inn.
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For instance’ if the heir of the M says to the heir of the m> your father
owed my father a hundred 7 and the heir of the MY said to the heir of the
mon, “I know that my father owed fifty 1r; however the other fifty 11, I am

not certain’’; it is in this case that the 7w17 of WA 12 X7 omaw P2 is applicable. The
X723 there continues to explain that the 109 is teaching us that there is a difference between
o 12 (where there is a 7312w 2vn) and PwIT 1°2 891 (where there is no 712w 21°0) -

- 0YWN Yyaws 919 PPRY TINN NN NN MIAN)Y

For if this would have occurred to the father in a similar manner; if the m»
would have told the m>» that Xy7> X2 Pwnam X7 Pwan, the rule would be
(according to X"1) that since he cannot swear the 712w of a nNXpn2 771, since
he is unsure if he owes the remaining fifty (and there is a 7¥12w 21°1), he is

obligated to pay the second fifty 11 as well. In a sense the father is a n¥pna 77m; he is
willing to pay fifty, but not the other fifty, since he is unsure if he owes it. If the father
would have clearly denied owing the other fifty, he would be obligated to take the oath of a
nxpna 77 (if he does not want to pay the second fifty), which means that he has to swear
that he does not owe the other fifty. However since in our case he is not certain whether he
owes the other fifty, he cannot swear that he does not owe it. On the other hand since he
admits to owing fifty, the only way he can exempt himself from paying the second fifty is
by taking an oath. X"7 maintains that since he cannot take the oath to exempt himself, he is
obligated to pay the remaining fifty. This is the ruling if the father would claim Riy7> wnn
X XY pPwam. If however it is the 7Pw9Y who claim RiyT> X7 Pwnm XWwT Pwan, the poo
teaches us that omIw 12 7°70 7 N2 but not PwWAYA P2; there is no AY1AW 211 on the
2w, Therefore by the 1w, the 17 of o%wn yaw*> 912 WKW TNA is not applicable, since
there is no 712w 211, and they are exempt from paying the remaining fifty.

This is the explanation of the w17 that states w1 P2 X9 077w 2. There is a difference
whether we are dealing with the principles or the o'w7v. Concerning the principles we say
n"9w 7inn; however by the w1 (since there is no 7312w 21°1, on account of the Pod) there
is no 2rn to pay. X" derives the 17 of »"»w Tnn  from the fact that the 70 is
differentiating between the principles and the o°wav. If the 17 would be that a 12> WRw
yaw"? is Mwd from paying, then there would be no difference between the principles and the
w71 in both cases they are mwd from paying. There would be no need for the 105 to

* The X7n3 there maintains that if in the litigation between the w71 there is an executable X T 7¥12w 217;
for instance if the 0w 1 were n¥pna 771 and claimed with certainty that only half is owed, there is no reason
why the 0w should not swear. The 105 could not be coming to exclude the 1"w1 from a 712w in such a
case. See following footnote # 5.

> In this case the difference between the principles and the Pw Y is apparent. If the M2 claims ¥7 "X he is
liable to swear since he should know whether he borrowed or not. However the 7"w71 are not obligated to
swear since it is understandable that they may have not known if their father owes an additional fifty 11. See
previous footnote # 4. See also later in this m201n the difference between a 21 Xnw and a Y173 Xdw.
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27 7"7 '010 2,20 M21nD 702

differentiate between the principles and the 2°w91. This concludes the quote from the X723
in M¥2Ww 'on.

mMooIn continues with his contention that >"71 77"7 disagree with X"9:
= AV NI PN 299N Y199 21N N NN 7923 9D NN N

And if we maintain like *"1 7" that in a case where the mY» claims you owe
me a 7% and the M° responds I do not know if I owe you a m1», the ruling is
that the Mm% is 3991 to pay the m%n, then there is no obligation of taking an
oath here in the case of X7 X% pwnm xwT pwnan. If the father, the M7, would claim
NIV KD Pwnm R pwan, there would be no 732w avn according to *""1 13" -

- 290 592 ¥ PN N NI 1DPANT
For even if he claims, ‘I don’t know if I owe anything’, he is obligated to
pay; certainly in a case of X7 X% Pwnm X7 pwnn, he will be obligated to pay. He has to
pay because he is a X»w, and not because of »"?Xw 7. Therefore the P10 of amw 172
cannot be referring to a case of X7 X2 Pwnm KT Pwnn (and is coming to exclude the
WA from a 72w 21n), for in this case there is no 7312w 211 (even) on the principles.6
Once we establish that the P05 of 0°1w 12 is not discussing a case of X? Pwnm RWT Pwnn
X171, there is no source in the 7710 for the rule of X", that n"?Rw '[13'173.7

mooIn concluded that >"71 7"7 (who maintain that 7°7¥ 72 even against a p1m1%) do not agree
with X" concerning the rule of »"?&w Tinna. Rather they maintain that even if ¥aw°? 9137 1R
he is 22w%n Mwd. The above is a prelude to the upcoming question in MdOOIN:

- s’hN Y 9IIND 22D (owI N, NP 97273) 1’5!‘\) v’ 99927 HnEMm

And it is astounding! For in $"%m1 2> P15 concerning the case of one who

claims ‘this is my brother’ -
= 290 Y199 2N N NN T2 9D NI YD 5PN ANT YNIUN

It seems that *»aR maintains that in a case where the Mm% claims, ‘you owe
me a 72%2’°, and the m> claims ‘I do not know if I owe you a 71, the ruling is

that the 7% is 2%71. This means that »ax agrees with >"1 7". Mmoo has previously
concluded that if we maintain 7°7¥ 72 Raw1 °13, then we disagree with X"7 who maintains

® At this point it is assumed that >" 71" will maintain that the P09 of oW 1°2 is teaching us a different 7w17
and is not teaching us the w17 of PwI17 12 X9Y; for it is not applicable.

7 See however, footnote # 29.

¥ The case under discussion there is concerning two brothers who inherited their father’s estate. Brother ‘A’
claims that there is a third brother ‘C’. Brother ‘B’ claims that he does not know if brother ‘C’ in indeed his
brother. The rule is that brother A must give ‘brother’ C a third of his property; however brother B, who is not
sure, is exempt from giving brother C anything; and retains his half share of the estate. It seems from that X773
that a 72 (brother A) is not sufficient to extract money from a X»w (brother B). »aX there however maintains
that even if 7°7¥ *72 RnW *12, nevertheless this is not a case of Xnaw1 *72, because ‘brother’ C himself is not sure
that he is a brother. It seems from that X9%3 that 2R maintains that 7°7v >72 X1 *12.
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n"»Rw 7. Therefore »ak who maintains 7°7¥ 72 KW °72 should disagree with 8. -
= NAN 22979 1199 5ORT YNYUN (0w x,15 ovw) DINAN NPIN P9I

However in 2°n37 nptn P99 it appears that »2X agrees with R''9 that 7
n"»xw.’ This seems to be a contradiction!

Nv0IN answers:
= YWHTNIY NN 2990 9INRT INNID 1D29NRT 9210 UM

And one can say; that even according to the one who maintains that the

Xnw is obligated to pay, nevertheless we can still interpret the 105 of -

= ©OW9Y°N )22 KDY 0NNY )2 NYIN /N YAV
‘The oath of '77 shall be between them’, to teach us ‘and not between the
heirs’; by the heirs there is no 7y12w. However this cannot refer to a case of X7 pwnan
X7 KD Pwnm, as explained previously; rather the distinction between the principles and the

7w will be in the following case:
= 11313 19521 29N TARY TO¥NI THN TYY NIN YT XD DNIYT

That they both do not know for sure; neither the m>» nor the m? are sure if

a debt is owed however one witness testifies that one owes the other a 5.

The rule is that an 71X 7 obligates the opposing litigant to swear. Therefore -
- DHWYN YawrY D199 1INY TINN NIANaY

If this would have taken place by the father; if the principles (the m>»n and m?
themselves) were involved in such a case (where neither was sure if monies
are owed and an X"Y claims that it is owed), the wling10 would be that since
the M cannot swear to contradict the 7nX 7v (for he says I do not know), the

m? is required to pay. However by the 2w there is no 712w 271 in this case (this is
what the ?109 of[2w 17 12 K9] o7°1w 12 700 ' OY2W  is coming to exclude),11 therefore
they are Mv>.

moon explains that °"1 13"9 can agree with X" that »"?wn. We derive it from the nwa7 of
WA P2 R 0w 12 a0 1 nyaw. However, this 0wn is neither necessary nor applicable
in a case of X7 XY PWnm XKW Pwnn (according to °" 11"), since there is no maw 2N
there regardless. However there is a need for this w97 in the case where the M9 M9 are

? The x7m3 there sought to prove from the ruling of X" (that n""Xw ) concerning a case of 7P, ™K
argued that we cannot derive the case of npin from the case of X" for they are different. It appears that »ax
agrees with the ruling of X"9; otherwise he would (seemingly) not be concerned to refute a proof from the
ruling of X".

' There is no 21m on the X»w to pay on account that he is a Xaw, because there is no 72 opposing him. See
‘Thinking it over’ # 2.

' See footnote # 5 above that there is no 7912w 211 on the 2°wAv, for their ignorance is acceptable.
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unsure and there is an 2»nn7 .12

mooin asks a different question:
= (0w N1 MR X33) 997 WA 199 SN 999 ATINY 297 AN

It is astounding! For >''9 himself maintains in the beginning of 77 773,
that -
= TPNIN 1D 1952010 NONIND NNPY IIIN 791 293 99N P 179N

Even if the victim (the 77977 9v2) claims that he is certain that the ox caused
the miscarriage and the perpetrator (the Wi 5va) claims that he is
uncertain whether his ox caused the miscarriage; and seemingly we should
say 7Y 72 Xnw1 13, nevertheless the 251 maintain that he who wishes to

extract money from his friend, the onus of proof is upon him; the one who is
Tnn XX must prove his case (with 7y, etc.). Otherwise he cannot collect even if he is a
12 and the van1 is a Xaw. We see from that X773 that (9% 9R) 7797° 27 maintains that a
"2 cannot be XX from a X»w. Our X773 states, however that (X117 277) 777 27 is of the
opinion that 7>7¥ >72 &nw1 °72, which is in direct contradiction to the X723 in |7":1.14

mooIN anticipates a possible solution to this question, but rejects it:
= PPN POV HVINN PNNIN IINRT DIV NTIN 297 911D PN)

And we cannot answer this question by maintaining that 7791 29 (who says
77y 72 X °12) follows the opinion of 91220 who maintains that monies
which lie in a questionable state; we do not know if there is an obligation to

pay or not, the rule is that the monies are divided; there is an obligation to pay half
the claim -

12 We derive it in the same manner as the X3 derives it in the case of X X2 Pwnm R pwan. If the 7
would be that a ¥yaw°2 915° 1RW is 7wd then there is no need to differentiate between the principles and the
0°w1Y in the case of an R"V. They are both 1wd. However if we maintain n"2°&wn, then it is understood that the
M2 is 211 to pay on account of i1 and the 2w 1 are 1wy, for there is no Av12w 21 for the owr.

" The mwn there cites a case of an ox that gored a [pregnant] cow, and the cow aborted; however we do not
know whether it aborted due to the goring (which would make the owner of the ox responsible to pay for the
aborted fetus) or if it aborted prior to the goring (which would absolve the ox owner of any liability). The f1wn
rules that the owner of the ox must pay half (one quarter by a an) the damages of the fetus. The X3 however
cites the view of (PXww 9nR) 777 27 who states that the 7awn (which rules 2171°) is expressing the view of
019m10, however the 2’51 maintain that 7PRA7 199 1202 XXM 172 2173 995 11, and therefore the Wit Hva is
719, since the 71977 Y¥2 cannot prove when the goring took place. The X3 comments on the phrase 2173 975 77
1"72 and interprets it to mean that the rule of 7"y applies even in a case of X»w1 »2 as explained in the text.
See footnote # 20.

'* There is no question on >" from the fact that the 05n maintain 7"v»7; for it is possible that the oon
maintain 7"¥17 only by *721 *12 and not by Xaw »12. However, since (981w 1K) °"1 states clearly that 595 i
172 7172 and the X3 teaches us that this phrase means that the 0°n5n maintain 7"v7 even by Xnw >3, this
contradicts the opinion of "9 that 7>7¥ >33 Xnw) 72
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- 951 YD) NNPYI 592 KON 23 5919 111 NPIN 9N 9IN XY
For 01020 does not follow the logic that cases should be resolved by
determining who is in possession of the money, as the 0°2517 maintain. 919110
is of the opinion that if there is a realistic doubt" to 7"2 whether or not there
1S a 7 21, then 7"°2 should reward half to the ¥2n1 and half to the ¥21n, and
therefore; since 777> 21 agrees with 01om0 that we prefer the ruling of 17
rather than 77"v17, so when there is a case of X»ww 992, the °12 takes all the
money16, not just half as in a case of 12172 or XA RAW, for since it is a XYY 12, the "2 is
stronger.17 It is only if we (always) maintain 71"¥7, then the *2 is not sufficiently powerful
to extract money from a prmn; however if we maintain that a P50 can be XX half (even)

from a prmm, then a *M2 can extract everything from a xnw.'® This explains why "
maintains that 7°7¥ >72 X»Ww1 *13, since he agrees with 012m10 that 2°p21n PodA YA PR,

Now moon will explain the X3 in "2 where (PR1w 1K) "3 states the position of the
0°751 that 73"vnn; not like 912210 -
= DIV 9271 ININIY 9NN NN 29 9N 9INPT ONM)

And there in p"2 where the X713 states that 3''2 said in the name of X2 this

mwn is the opinion of 912210 -
- 5915 1772 Y1) Y95 NT 0Y9MIN 090 YaN

However, the 2°22om1 argue with 012210 and maintain that this is a great rule

in jurisprudence, etc.; that 7"yn7. This would seem to indicate that *"3 subscribes to
the ruling of the 2°n2n1 and disagrees with ©12210; contrary to what M50In suggested. Md0IN

explains that this is not necessarily so, because there in p"2, "7 -
= 1159 X920 XD 19 99ND 19297 NION

is saying this according to the 2°mo1; (Sxmw »x) °"1 is merely teaching us that
there is another opinion besides 012210; the opinion of the 2’51 that 7"vnn
(even by w"32), however he ("1 himself) does not agree with them; rather he

' o1210 rules 1p15m° only in case of X117 X717, when there is a realistic doubt to 7"°2 (even if the parties both
admit they are not sure as to what occurred); as in the cases of 7797 DR MAW MW or M2 779 797, etc.
However in cases of a m?1 mo where the m? is 9377 1913, 0190 will definitely agree that 7"ynn.

'® The reason why others maintain that a 12 cannot be x> from a Xaw is because the Xaw is a prmn.
However since 019110 maintains that 121 po02 S0n 1y, this indicates that by a poo (of a X11m1n7 X177) there
is no 17 of prmn. [The reason for this may be that since there is a serious doubt by 7""3, to whom the money
belongs, the fact that someone has possession of the money is not sufficient to render him a prmn.] Therefore
there is no reason why the >72 cannot be X% from the X»w. See footnote # 26.

' This is merely a suggestion on the part of Mmoo, There is no proof that according to 012m0 the 77 will be
that 7°7v 72 X1 M2 (according to anyone). The reason nM®oIN makes this assumption is because it will
resolve the contradiction in the statements of >".

' The fact that the ¥ is a 72 and the yan is merely claiming ¥»w would render this a X1mn7 8177 [In
addition, the fact that the ¥ani is the X»w will allow the ¥21n who is a *32 to receive his claim.]
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agrees with 012m10 that P91 pooa YuIni 1vn; therefore by w™a the 177 would be 777y "2

This would seem to resolve the contradiction. 777 27 agrees with 012m0 that Hvwan 1
1PN P02 (we do not say 1"vni) by 121 12 or X»w Xnw. However by &nw) 72 then 12
77y and the "2 receives payment in full. When (5Xmw 9nR) °"3 stated that the 200
maintain 7"V even by X °73, he was just stating the opinion of the 0°»31, but not his
own opinion. According to this proposed answer we may maintain that 7°7¥ >72 w"12, only if
we follow the opinion of 0120 that PPN o0 Hvwan Nn. However if we follow the
opinion of the 7327 that 7"vn7, then (PXmMWw KR) °"1 who says that 7"¥n7 (according to the
o°nan) is a P72 9173 990, must agree that 7"V takes precedence even over XA >0,

mooIN rejects this approach that >"7 follows the ruling of 013m10:
- 723 NEMIY 19530 NIY 991 23 13399 V20T YNRYN (Ua,a8 973732) ONNT

For there it seems that °"1 agrees with the 3139, that 7"Y»7, concerning the
case where one sold an ox to his friend and the ox turned out to be a goring
OX.

mooin will offer an additional proof that °"3 must agree with the o251 that 7"ynn, and
cannot follow the opinion of ©12m0 that 1%,
- 2nmn N9INY I DIRUNA (0w x,1 n72) INIYA 7992 NNT WM

And furthermore we learnt in a mw» in »Xwn7 oo, the lender said the

borrowed cow died -
= 29N Y19 2N IMIN 1Y

And the other one (the borrower/renter) said I do not know which cow died.

The ruling is that the borrower/renter is obligated to pay. It would seem that this

mIWn maintains 7°7Y 72 XHYY 2.
= 1PN 793 13N) 297 NH2MH NN N1IYT NN MNP

And the R=9%23 there indeed comments on this 71w and says can we say that

% See w"w1 who changes this 23pn 7% to (X,% P"2) 7797 W™ (the X3 we have been discussing all along).

2 The X3 there (X,m p"2) offers an additional explanation what the phrase 172 2173 992 17 teaches us (see
previous footnote # 13.) It comes to let us know that 7"¥2:7 is stronger (even) than 217. In the case where a sold
ox turned out to be a goring ox, the buyer (according to ?X1Mw) cannot get his money back, because the seller
can claim I sold it to you for slaughtering and not for plowing. This ruling holds true even if the majority of
oxen are sold for plowing; the rule of 7"vn7 is stronger than the 217. It is evident from this X773 that HRmw
certainly agrees with the o°mon that 7"yni (for according to 01910 the 17 would be 1217m°; see ‘“Thinking it
over’ # 3). The fact that >" cites this statement of 191 9173 975 77, in the name of XMW, his "2, is a strong
indication that he too agrees with this ruling of ;7"yn7.

! The nawn there is discussing a case where ‘A’ gave ‘B’ two cows; one was borrowed and the other was
rented. Subsequently one of the cows died and there is no proof whether it was the borrowed cow (in which
case the borrower ‘B’ would be liable) or if it was the rented cow (in which case the renter ‘B’ would be
exempt from any liability).
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this mwn which seemingly maintains 7>7v >72 Xaw) "2 is a refutation of 1'%

33175 'Y who maintain that 57 32 5. This concludes the quote of the X723,
mdoIn continues with his proof that °"7 who maintains 77 72 cannot agree with 01220 but
must agree with the 2°5m; otherwise the question of the XX there in HXWi is not
understood.

- 1Y% 395 9959N DYMDI PNIND THI9 YY NN NIWIP INM)
And what is the difficulty! What refutation is there from that 71w»n on the
opinion of 117 "1 1" (if °"7 agrees with 01D110); for you must say that the
mawn in X, which rules that the X is 2»n, follows the opinion of 212219

even according to °''% who maintains 7°7v 12; he maintains that, only because he
agrees with 012m0 (this is the opinion of the previously proposed answer that msoin is
attempting to disprove) -
= 91097 NN 29 NN 192997
For according to the j129, then even ''% would admit that the X1 is =ws.
The 7327 are of the opinion that 7"y»1 takes precedence even over Xaw? 2.
- PPYIN MNDN 595 DIMIDYT 19395 TH3 I 13NI% 399 J1IN3 39
And we must say that 337> "1 1" who maintain 7°7¥ >392 W7 and the *72 does
not collect anything, agree with the 3139, that 7"vn7; they cannot agree with
01010 for according to ©122% in a case of X»nw1 "71 they should at least

divide;* the xnw should pay half; for it is ppoa YoM 1» where according to D190 the 77
is PPN, If we were to assume (as the proposed answer assumed) that the 0°°7 of Xnw "2
77y "2 and 71"yn7 are mutually exclusive; and one can maintain 7°7¥ 72 XA °72 only if
one maintains 1P P02 P0INT MY, then there is no difficulty for 131> "1 1" from the mawn
in 2. The mwn in 8w which maintains 579 >33, must follow the opinion of 013110,
while 731 "1 1" who maintain 7°7¥ *92 X2 must follow the o°»51. There is no contradiction.

moon will now conclude his refutation of the proposed answer and explain that if we reject
the proposed answer, and accept that > agrees with the 13127, then the X2 in 2RW:7 P79 is
understood.

- v 933 1999K PPEvIin 89999 91910109 19297 RIWYN 92999 IN YaN

** This is what the phrase 9173 %23 71 comes to teach us.

» In a case of 1 ™M (or Xnw XAw) if it is Po02 HuIAT Pan then 019710 maintains that the P loses half; we
say y12m. Certainly in a case of X»w1 *13, the prmn should lose half. How can 131 " 1"7 maintain that the
Pimn retains all the money. Obviously they must disagree with 010m10 [see footnote # 18 that a w21 is
considered a X117 X177].

* mooin is compelled to say that according to 012110 the 177 is 7P even by Xaw1 ™2 (at least according to 1"
137 "), Otherwise 731 "1 1" can respond by saying the 73wn in Xwi is according to ©19m10. See “Thinking
it over’ # 4.

* This is in contrast to the assumption of the previously proposed answer which Mo is now rejecting.
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However if "7 7"7 and 721 "1 1"1 argue according to the 2o they all
agree that 7"v»n1 and disagree with 012110 who maintains P21 P02 2017 119n;
and according to 91220 we always divide the monies even in a case of 92

RN, because °"11 1" who say 7°7¥ 32 and 317 "1 1" who claim 7°7Y *92 X? maintain
their respective opinions only because they agree with the o°»om, (because according to
019110 the 17 will always be 1212m° according to everyone) then -

- 261",75”'\ D192IDDT NINN 133957 1N%NNN 9V 7299

There is a valid challenge from the 7w against 117 "1 1"7 for the mwn
follows the view of the 3129 and not the view of 010m0 for according to
212178 the 17 would always be that P9,

It is therefore evident that 777> 27 as well as 71m° ™1 1" 73"7 all agree to the o mom.
However, the original question remains; if *"9 follows the view of the o 2n that 7"v»7, and
"' states that 77"vnn is effective even in a case of Xnun ’1:,27 how can °"1 maintain that °72
77y 72 X ?!!

moon answers that there are two different types of Xnw »92:
= 20 RNYI P19) 292 ONNT 9D YN

And one can say that there in "2 where we rule that 7"vn1 is effective even
in a case of w"3, the claim of "2 is defective and the claim of N»w is

superior; it is only by this type of w"12 that the 2231 maintain 7"vnr.
mooIn will now explain what is meant by a 20 X»w1 ¥173 °72. In the case of 77197 DX 7AW MW
where the 797 9v2a claims "2 that the miscarriage was due to the "W and the Wi Hva

claims ®naw, the "02 of the 3997 Sy3is a ¥ -
- 15199 1159 1IN KT 210 P NI 593 N1 IV OV 1PN XY PInY 5954

For since the p°t» (the 7w %¥2) was not there by the goring (the Wi 5v2
claims &nw), therefore this 77577 %v2 claims I am certain. His argument is
weak, he claims whatever he wants because he knows no one will contradict

%0 The difference between moon proposed answer (which is rejected) and the X1p0n is as follows. According
to the proposed answer the 0’251 maintain that nothing can be taken away from a p1mn without a 7°X7; even a
"2 cannot be XX from the X»Ww who is a P, 01210 maintains that even a P90 of R1nT X117 can be XX
half from the p1mn, even by a 721 *72. A "2 can therefore be XX everything from a X»w. The 77 of ¥"2 w2
must follow the opinion of 010110. According to the X1pon, however 012110 agrees that one cannot be 11n7 XX
from a pr. However in a case of pooa P 1110, according to ©19m10, both parties are considered 2°prmn; on
account of the X117 X777, we view it as if each one has a certain right to the money. The 17 is Pp?1 since
both are considered o>prwa (it is like n*902 PR o°1w, where the ¥"13% 17 is 1121%). Therefore even by Rnwy 12
the 17 is 17121, for 019210 maintains that we cannot be X°¥1 from a P, on the basis of a X»w1 ™32. The 177 of
7" °"1 that ¥"2 w"13, must follow the opinion of the a»3m. The 0°»on agree that (under certain circumstances)
a M1 is stronger than a PTmn who is a Xaw. See previous footnote # 16.

" This is based on the interpretation of the phrase 172 2173 %92 1r.
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him;*® and the x»w of the pr1 is good; we cannot fault him for his X»w nivy,
there is no reason to infer from his X»w that he is lying, etc. for he could not
have known; he was not present at the time of the goring. In a case of 21 X»w ¥13 3,
we maintain the 17 of 7"yn7. The ¥173 °72 does not have the strength to be XX from a Xnw

29
.
- INY BN 2990 BN Y159 1159 71T $19) AW 230 3920 7753 59 N YaN

However by the case of 97°3 %% mm; the case of Xnw) *M2 where "1 1"
maintain that 7°7¥ 12 and the 12 can be XX from the prmn the 92 is a
strong 2. There is good reason to accept the claim of the m%n; because the
mn is aware that the M5 can contradict him®® and the claim of X»w by the m?»
is inferior, for the Mm% should know if he owes the money or not. The claim of
Xnw by the m> leads us to think that he is not being forthright; for how is it that he does not
know if he owes the money or not. In this case the claim of the °72 is much stronger than
the claim of the Xnw. Therefore the strong >72 can be X°X1 from the weak Rnw.

Thus the contradiction is resolved. In "2 it is a 210 XPWY A °72; that is why the 77 is
1"vni. However here by 77°2 °% man it is a ¥173 Xnwy 2w »3; therefore the 197 is (according to
"1 17") that 7°7v *72 (even from a primn).

mooin asks an additional question:
= INOD1) 1295 POT NN INNWT NN 397 XN NON 99D d¥aT NYP YaN

However there is a difficulty, for the X713 here attempts to maintain that
what >''1 maintains (that 7°7¥ 32 w"2) is the opinion of %Xw who rules as
2''9; that we believe the woman who is a 72 against the husband who is a Xaw. The Xn3
states the 7Rnw rules like 2" in the case of our 7Iwn where the woman claims (°72) that
"N0IR1 *1N07Rwn and the husband claims (X»w) that (perhaps) N0kl T°noIR RoW 7v. When the
X3 states X°77 DRIMWT 7717° 277 K7 it is understood that the (sole) reason that 218nw rules like
3"7 1s on account of X»w1 "2 (the ruling of *"9). It is however difficult to say that on account
of the ruling of *"9 that 77y 72 w"13, we should maintain in the case of 3"7 as well, that 72

*® The level of the believability of an argument is directly related to the level of difficulty in presenting this
argument. A litigant is reluctant to present a (false) claim which the other litigant will certainly deny. He is
more comfortable in presenting a (false) claim which the other litigant may not be able to contradict. 7"*2 will
give more weight to the former than to the latter. In the former case there is reason to believe him; for
otherwise why is he making such a claim which is open to contradiction; obviously he may be saying the
truth. However when his claim cannot be contradicted there are no grounds to support his claim. There is no
reservation to his lying. He is saying it because no one can disagree with him.

* According to this view that by a 21 Xn21 173 12 we do not say "7y 12, we can maintain that the X" from
o7 P2 a0 1 nyaw (which nvoin mentioned in the beginning concerning the 17 of n"°Xwn) is in a case of
w32 (as the Xna states in NW12W), however it is in a case of 210 XAWY ¥173 12, where the 1°7 is 777V 12 WY,
therefore there is a 712w 2. See footnote # 7.

0 See previous footnote # 28.
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N7y,
= N9Ya) NN Y11 1N HYANY 210 NHIYI ¥19) 293 ONM

For there, in the case of our 7wy, the 72 is defective and the X»w is
superior, since the husband does not know (and rightfully cannot know)

when she was 921, In a case of 21w X»w1 ¥173 *73, there is no ruling that 7>7v 72, on

the contrary the 7127 maintain 73"V17.
= (0w N, M p72) N9 PI9T INNVIN INNIYT SYPIN 13 ON)

And if this is so, that the reason X1W maintains that the 7097 is "3, is
because 777V M2 X»WY M3, then there is a contradiction of »X»w here (who
maintains that even by a 20 X»w1 ¥173 °72 we rule that 7°7¥ °72 to be XX from

the ¥a who is a 210 X»w) against ®X1»w of 77957 P95 who maintains that 7"v»:
overrides a Xnw1 2 (at least by a 20 xawn ¥173 *12)!1°! The question is how could have the
X3 even entertained this idea that PXmw rules like 3", on account of w"32, when X1Ww
maintains that by a v"w2 the 17 1s 7"vnr.

N1B0IN answers:
- TPV 991 S8 NINT 1Y Y

And one can say that indeed the X3 could have responded to the
proposition that X7 RwwT °"37 &7, by saying ‘and according to your

reasoning’ is it properly understood?! How can you even think that the reason of 2Xmw is
connected to the opinion of >" in the case of w"12? There is obviously no connection, for
""" is discussing a 131 21 *73, while HXmW is agreeing with 3"1 even by a 11 ¥13 2.7

moon offers an additional answer:
= 1972 DY) DY NTT N30 NONT NINDT 9D W N

And furthermore, one can say that our X923 here maintains that the phrase
of '7772 9173 %95 7', which™ >"1 said in the name of xmw -

- NAY AN POM) 592 N P1Y NY
Is not referring to a case where the victim claims 92 and the perpetrator
claims R%@ as the X723 states in the first explanation in "2. Our X723 does not agree with

this interpretation. In fact it maintains that in a case of Xa¥1 "2 (even a 219 XYY Y173 °72) we
do not say 11"vni1. The phrase P72 9173 922 17 is not referring to w™3 -

' If the X3 would not have said that X7 2Xm@T >"37 &7, we could have explained (as the X723 eventually
does) that the reason 2X1w rules like 3" is not on account of 7°7v 32 w"3, but for different reasons (M NPIM,
197 14°n); then there would be no contradiction. However since the X773 maintains X7 2X1Ww7 °"7 X7 that the
reason of PX1MW is on account of X»w1 »3, then there is the contradiction from p"2.

?% In essence MdOIN is saying (in this answer) that there is no way to reconcile these two rulings of HXmw.

¥ See footnote # 13.
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= N7 99D ) N 0NN 9INPT NON
But rather, as the X723 states there in p"2 ‘or you may say, it may also be

referring to this’ case of 217;** that 7"vn7 is stronger than 211. However it is not stronger
than Xnw1 °72. According to this answer of N190IN, our X3 here maintains that 7°7y °72 w3,
even in a case of 210 XMWY ¥171 "M2. There is no contradiction from RMWIR HXIMW, because
according to this interpretation 71"¥27 is not applicable in a case of ¥"12, only against a 1.

Mmoo questions this last answer:
= 999V SNN NXY ONNYT ) ONX 9D 192ART N DY NYP)

And there is a difficulty with this explanation that our X210 does not agree
that 71"vn7 applies even by w"12, for even according to the 's21 5X' there in
?"2, that 7"y 1s only stronger that a 217, but not (necessarily) stronger than a

"3, nevertheless it is not properly resolved -

- %915 593 PN P9I 1TPART KOTN2 19399 905 SN (0w 3,a5 97 0w) > NIAN 1D NNT
For in the end of mi»77 P75 the 1129 clearly maintain that even if the P12
claims 92, etc. and the p>m claims xnw,”® the rule is *'7"ynn -

Y9205 MY 991N NN 13395 9210 HNIWY)
And ®Xmw (generally) agrees with the 3337 that we rule 73"vnn, as is evident
in the case where one sells an ox to his friend and it was a goring ox. Xnw
maintains there that 7"v»n. This proves that 59X mw agrees with the o°om. The on clearly
maintains that 7"v17 overrides w"2 as is evident in the X732 of 7. Therefore in order to
avoid the contradiction between ?2Xw of MW 0m7 (where PXvw maintains 73"yn1) and
X mw who rules like 2" purportedly on account of w2 (that 7°7¥ *32 even against a prmn),
we will be forced to say that the X3 could have asked "nyu?Y. There seems to be no way
to reconcile these two 2°17 of "X according to the X" that >Xmw rules like 3" on
account of 7>y "2 w"a.

SUMMARY

Those who maintain 779 >32 1@ °72 can agree with the ruling of n"2°Rw 71nn;
it may only require that the nw27 of WY P2 XYY oW 12 is referencing a
case of TR 7¥ and not a case of RIWT R PwHM RIWT Pwnn.””

** See previous footnote # 20.

* The X there is discussing various cases where oxen of the 7 damaged oxen of the pr1 and we are not
certain if they were damaged by the oxen who were 0’7y or o°»n, etc.

% In all the cases there, it is a 210 X1 ¥113 72, The 12 was not present at the time of the 1.

7 1t is not necessary to derive from the phrase 772 9173 992 77, that the 031 maintain 7"¥27 even in a case of
w"32. It can be derived from this X3 in 1°17. Therefore everyone must agree that according to the o°non the
17 of 1"'vni overrides w2 (at least a 210 XA ¥173 *2).

¥ See ‘Thinking it over # 5.
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The 17 of 7°7v 12 w2 is only if it is a ¥173 R_WY 210 °73, however by a ¥173 °72
210 XA, there is a PP between the 2°non (who maintain 73"v»7) and 0191710
(who maintains P71 po02 Y0 17 [by all types of w™a)).

THINKING IT OVER

1. mooIn initially maintains that >"71 7" (who claim 7>7v >72 w™32) disagree
with X" who maintains that n">xwn.*® Seemingly, this is irrelevant, for both
of them will agree in the case of X7 X2 PWnm XWT pPwnn that the MY is
required to pay. According to °" 11"7 he is required to pay since he is a Xnw
and according to X" he is required to pay because of n"?xwn. What difference
is there whether >"71 77"7 agree with X"9 or not?!

2. mpoIn states that according to °"7 (who maintains 77y 72 w"32) the proof
that »"2°8wn from the 7wA7 of 2w 12 XY 21w P2 is in a case of RAwY Raw
and an X"V claims that monies are owed.*' However if 7Y 12 w2 then it
would seem that the testimony of the X"¥ (who is unbiased) should be at least
as strong as the claim of the ¥21n (who is biased) and therefore the X»w should
have to pay even without Tinn!*

3. How can moown derive from the fact that ?3X»w maintains by the case of
TIA1 R¥A1) 17" 1w 0 that the 17 is 7"y, that YRmw agrees to the 0nan?®
Seemingly in this case even 01Om0 would agree that 73"¥27 since there is no
R1M1T 877!

4. moon concludes that according to 010110, the 1°7 is that 1P 0792 even by
X1 *72.* Seemingly this is difficult to understand. In a case of 721 73, the
0°non maintain that 7"yn7 and 019210 maintains PP, How is it that by 12
X, the 02 are X°X12 from the Pimn (according to °"71 7"9) and say 7>7v "3,

¥ See however, footnote # 29.

40 See footnote # 1.

1 See footnote # 10.

2 See " w" WP

3 See footnote # 20. See nx" "1 on the X"w7an on this MdOMN.
# See footnote # 24.
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and 012m0 (who maintains we are XX half from the Prmn even by 721 72)
will not agree to 579 >12 to be X1 (just) the other half!™

5. mooin states® that Sxmw follows the opinion of the »am, as is evident from
the case of A1 R¥n11 17°2m% MW 0. It is also evident from the X3 in 10
that the 0251 maintain 71"¥n1 even by &nw °72. It follows therefore that PXmw
maintains 71"V even by Xnwn "12. Seemingly all this is not necessary. The
case of 17°2n% W 1owAn itself appears to be a case of 1w *13; where the buyer
is sure that he purchased it to plow and the seller can only argue that perhaps
you bought it to butcher it. YX1¥ maintains that 7"v7 even there where it is a
w"alY

* See Hax 7"82 77 7" 2"AR.
4 See footnote # 38.
47 See oxA 1P LX"WIN.
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